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++Oops through C

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Old Syllabus 
OR

Explain all input and output functions of files in

++C .

++ C

++ in C  language.

++ C

Describe inheritance and its types with examples.

What is class? Write a program to explain each 

aspect of class.

8.

9.

OR

8

8
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        

P.T.O

Data hiding concept is supported by 

language:

(a) C

(b) Basic

(c) Fortran
++ (d) C

++ Clanguage was invented  by:

(a) Bjarne stroupstrup

(b) Dennis Ritche

(c) Ken thompson

(d) None of the above

OT5022OT5022

OR

++ Write a program in C to check whether a given

number is palindrome or not.

Answer all Five Questions. 

++ Explain various types of loops used in C with 
suitable example.

C

8 x 5  = 40

8 

7.
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(iii)

(iii)

(iv)

(ii) ++C

The existing class can be reused by:

(a) Inheritance

(b) Polymorphism

(c) Dynamic binding

(d) Abstraction

The cin and cout functions require the

header file to include:

(a)  iostream.h

(b)  stdio.h

(c)  iomanop.h

(d)  None of the above

6.

OT5022 OT5022

What do you mean by Binding? List types of binding?

(i) Static function

(ii) Inline function

Differentiate between private, public and protected

visibility modes with suitable example.

5.

OR

4                     

OR

4                     
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(v)

(v)

(vi)

(iv)

In C++, the symbol used for writing 
comments is:
(a) //
(b) //**//
(c) */*/
(d) None of the above

The :: is known as:
(a) Scope access operator
(b) Two colons
(c) Both (a) and (b)
(d) None of the above

4.
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OR

Differentiate between object and class.

Explain the importance of constructor and 

destructors.

How procedural programming is different from 

object oriented programming.

STL 

3.

4                     

OR

4                     
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The delete operator is used :

(a) To delete object

(b) To delete file

(c) Both (a) and (b)

(d) None of the above

The symbol defined using #define are called:

(a) Micro

(b) Small

(c) Macro

(d) None of these

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

Write a program to read two numbers from the

keyboard and display their average on the screen.

 

(xx)
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Each case statement in switch is seperated

by:

(a) Break

(b) Continue

(c) Exit ( )

(d) Goto

The meaning of if(1) is:

(a) Always false

(b) Always true

(c) Both (a) and (b)

(d) None of the above

A keyword is:

(a) An identifier

(b) In lower case alphabets 

(c) Reserved for instructions only

(d) All the above

Binary operators:

(a) Operate on bits

(b) Operate on two operands

(c) Operate on single operands

(d) None of the above

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)
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The objects are created in:

(a) The class

(b) Main function

(c) Anywhere in the program

(d) All the above

Constructor :

(a) Are functions

(b) Have the same name as that of the class

(c) Have no return data type

(d) All the above

The following loop statement uses two 

keywords:

(a) Do- while loop

(b) For loop

(c) While loop

(d) None of the above

Every expression always returns:

(a) 0 or 1

(b) 1 or 2 

(c) -1 or 0

(d) None of the above

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

OT5022 OT5022



8918505 18505

P.T.O

A class contains:

(a) Only data

(b) Only functions

(c) Data and functions

(d) Neither data nor functions

Private data are accessible to:

(a) Objects directly

(b) Objects through public member functions

(c) Main function

(d) None of the above

Constructor is executed when:

(a) Object is declared

(b) Object is destroyed

(c) Both (a) and (b)

(d) None of the above

++ C standard library contains:

(a) Classes

(b) Functions

(c) Objects

(d) All the above

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)
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Define polymorphism. What are its types?

Write a short notes on:

(i) Friend function

(ii) Preprocessor directive

What is function overloading? Why is it used in 
++?C

C

OR

10.

8

OR

1718505
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Define polymorphism. What are its types?

Write a short notes on:

(i) Friend function

(ii) Preprocessor directive

What is function overloading? Why is it used in 
++C

C

OR

10.

8

OR
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++ Write a program in C to demonstrate function

overriding. 

overloading.

8

11.

OR

***

18 18505OT5022

++ Write a program in C to demonstrate function

overriding. 

overloading.

8

11.

OR

***
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